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[ e 8 F ]
1 EHE - SR (BNE)— — P - BE (BIR)
2 UM - HE (BER)— L @3 - @B (EBR)
3 LN - A (SR )— " — kK - DFE (BER)
4 HE - TE (EBER)— . Lswgp - PE (BAR)
5 - B0 (ERE)— 5 L mE - @k (BER)
6 BN - B (BMR)— R L— 22 - B® (308)
7R - B (BB )— ﬁ:ﬁ 2 m@E - B (ERE)
8 INE - ME (BNE)— T L— w1 - =4 (BaR)
9 AT - HE (BB )— 3 T ki - BN (EBE)
0 KE - WHA (EBE)— L— @m - |8 (B3NR)
1 EAR - M (BIR)— — ®E - PTED (B )
12 A&GH - Il ( HHE ) — — ®Xx - MH (EER)
13 BE - A (@8R )— ? — 3 - EA (BER)
14 N - R (HRR)— L wil - o (EBR)
15 M - FR (BER)— — FH - BB (BOR)
16 Il - BB (ENIR)—) L 2% - =5 (BN8) 32
[ B & B F+ 1]

— TH - AN (B
P - R (BER)

L— #m - #m (2ER)
2 WA - A% (EBR)— - — hit - =@ (ESR)
3 X% - E(BmR)— N L xr - R (BNR)
4 KT - & (BNR)— — WA - £E (EBR)
5 T# -xf%ﬁ:ﬁ(.%%uln%)—o — EX - X (BHER)
6 AR - KE (BER)—

i - RE (EBER)

7 mW - B (EeE)—




